[Component pcs

Hublet T6 main PCB v.4.1: M2-A
CON_2POS_VERT_TE_350428-4 2 X
640456-2 Pin Header MTA100 2-pin. 7 X
CON_HEADER-1X4_FCl_68002-404HLF 1 X
POGO-PIN_PRECI-DIP_811-5S1-004-10- 6 X
CON_HEADER_2X10 137-20-3-50-1-2-10 Weitronic 1 X
LED_0603_GREEN_3V3_APTD1608ZGC 72 X
Capacitor 100n/100V/0603/X7R 12 X
Capacitor 100p/50V/0603/NPO 10 X
Capacitor 150u/10V/2312/10% 8 X
Capacitor 1u/25V/0603/X7R 3 X
Capacitor 4u7/16V/0603/X5R 10% 3 X
MBRS340T3G Schottky 6 X
NDT3055L MOSFET N-CH 60V 4A SOT-223-4 15 X
PCB Hublet v4.1 1 X
IC_IO-EXPANDER_PCF8575PWR TSSOP-24 2 X
LED_5050_RGB_QBLP679E 30 X
Resistor 1%/0603/1k0 36 X
Resistor 1%/0603/4k7 28 X
Resistor 1%/0603/82R 72 X
Resistor 1%/0805/100R 60 X
Resistor 1%/0805/150R 30 X
TVS_SESD0402P1BN_0402 tai TVSA04V05C006 18 X
CD74HC4051M96 SO-16 1 X
BC857C/SOT23 9 X
RGBA-LED-DRIVER_TLC59108F TSSOP20 1 X
IC_USB-PWR-SWITCH_1A5_TPS2069CDBVT 6 X
Hublet adapter v0.3 PCB

Micro Usb Cable Tablet Adapter Hublet 1 X
BZX84C-5V6/SOT23 1 X
Capacitor 100n/16V/0402/X7R 0402YC104KAT2A 2 X
MAXIM_DS2740,DS2740U+ 8-TSSOP 1 X
Hublet adapter v0.3 PCB 1 X
Resistor 1%/0402/150R 2 X
Resistor 1%/1206/0R02 1 X
Mechanics:

Aluminium frame 1 X
Support Leg 1 X
Support leg backwall 1 X
Floor plate 1 X
Bottom plate 1 X
Fixing plate 1 X
HW support 1 X



Wall Bracket

Phone holder

Phone holder support
Reader holder

Reader Backwall
Barcode_Cover

HW Spacer

RFID Cover

PWB Plastic Support

Plexi Cover

Decoration panel leg

Front Gasket

Back Gasket

M6x14 (alu frame bottom / floor plate)
M4x10(support leg backwall)
M3x10(Power unit)
M3x12(PWB screws )

M3 x 5(Display screws + grounding srcew)
Pt3 x 12(Cavity fixing screw)
Tablet cavity

King PIN

Sidekeys

Tablet A-Cover

Solenoidin tappi

Solenoid Spring

Tablet B-Cover

Elektromechanics:

0-0130532-0 - Fork M4 14-16AWG

1-480698-0 PLUG HOUSING, 2WAY

Fork 12 AWG, 10 AWG, 6.64 mm?, M4

wire to board flatcable con 40 pin

350550-1, MATE-N-LOK, Socket, Crimp, 14 AWG
WtoB MTA-100, 26 AWG, 2.54 mm, 2pin

53407-1 Ring Tongue Terminal M3,5 16 AWG
5473-3M / B19/BN22594

SCHURTER 6100.4220 Power conn.

Ferrite 7427246 WE

20-pin.grey 28AWG

Abiko A1507FL 6,3x0.8 pun.

Cable 1891C SL005,14AWG, 2CORE,SLATE,Alpha wire
Panel Mount Ethernet Extension Cable

Quick Disconnect Terminal, blue, fully insulated.
MKEM 1.5 (HO7V2-K) Blue cable

MKEM 1.5 mm kevi cable

Solenoid M170-27L

MKEM 1.5 (HO7V2-K) brown cable
SDSQUNB-016G-GN3MN, SANDISK 16GB mSDHC Class10
T812120A101CEU SOCKET, IDC, S/RELIEF, 2.54MM, 20WA
Panel Mount USB Cable - A Male to A Female

P P PR NRPNRRRPRRR

=
I—\-bmm

(o)1) B e) Bl e) I o) B« ) M @)

P R W NNDRPRP RN

o
B

1.29

0.9
0.34

0.9

X X X X

>

X X X X X X X X X X X X X X X X X X

X X X X X X X X X X X X X X X X X X X X X X



VOLEX X-210699A Mains Power Cord 2,5m Euro

Power Supply Meanwell RS-150-5

RaspberryPi3 mod B 1gb

RaspberryPi Display 7"

Datalogic GFS 4470 Barcode reader

ELATEC TWN4 MIFR NFC-P RFID CR USB 2m Wh RFID Reader

IEC Filter, 0.1 pF, 250 VAC, IEC, Mains, 6 A, Quick Connect, 780 puH

O T T N =Y

X X X X X



M2 Version

M2-E M2-F M2-K M2-L M2-0 M2-P

M2-B

X X X X X

X X X X X

X X X X X



X X X X

X X X X

X X X X

>

x

X

>

x

X

x

x

x






